Name: /(6‘;% Unit 5 Review — Functions

Helpful nformation:

Function — x-values can NOT repeat (vertical line test)

Domain — x-values Range- y-values

One-To-One — function in which y-values can NOT repeat (horizontal line test)

Inverse — f ~1(x) — switch x and y, then solve fory

Composition— f(g(x)) = (fg)(x) (f(f *(x)) used to prove inverses)

Transformations — (remember x changes opposite)

Reflection | Dilations | Translations
Changesonx | f(—x) fla-x) f(x+a)
Changesony | —f(x) a- f(x) f(x)+a
Even Functions — symmetric about theﬂ-axis (f(x) = f(—x)) **Example:y =cosx

0dd Functions — symmetric about the origin (1802 rotation) (—f(x) = f(—x)) **Example:y = sinx

Level | Practice:

1. If p{x) = ab” and 7(x) = cd", then p(x) e #{x) equals
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2. Arethe given functions inverses? Justify your answer.
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3. Which equation represents an odd function?
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4. Given fx) = S 2, which equation represents {1z} ?
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5. Find (f — g)(x) given that f(x) = 3x* — 4 and g(x) = x* — 8x + 4.
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6. Sketch a graph of the func}non y = 2x*. Is the function odd, even, or nmther? Explain your answer.
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10. Functions f, g, and h are given below. Which statement is true about functions f, g, and h?
Jlxy = sm(2x)

g0 = A+ 1 L) = 8in @1
" Loy +1
aof 3 = e -
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1) Ay and g(x} are odd, &{x) is even.
2)  fixy and gix) are even, &{x} is odd.
@ Az is odd, gix) is neither, &2(x) is even.

4)  AzYis even, glx} is neither, #{x) is odd.
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7. Ifgier=1- ¢? and mic) = ¢+ |, then which statement is'nottrue? G g3
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8. Which statement regarding the graphs of the functions below is untrue?
Jx)=3an2x from-mex<xw

glxy= (x-05)Fx+4)x-2)
hixy=log,x
()= == T 3

1} iz and j{x} have a maximum y-value of 3. &~

@ Axy, A{x), and j(x) have one y-intercept. h (x) o5 0O é—(f*'* SAER ‘jt

3) g{x}and j{x} have the same end behavior ?_i T ERE 2 - "o
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4) gix), #(x), and j{x) have rational zeros. o

9. Show the inverse of a linear function y = mx + b, where m # 0 and x # b, is also a linear function.
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